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|. Determine whether each description of a
-’rn'anale involves +he SSA Situation.

a) In AABC, <A= IBo} a=2cm, and b= Gem.
\SVFPCh: :', a This 1's a SSA Situahon.
A
5

e, ©

b) TITn ADEF, <D= 5)‘:1: d=l‘~4cm)0nd £=1lcm
D

SKelchs & R9 “This r's a SSA s+uotion.
llem . .
: . F '
E 14 cm
¢) In A PQR, < P= 3‘8', Q= Llem and r=19cm.
SKetch® - Tnis is not a SSA
;qcm Ei‘l‘ua‘hon
3% ( SAS)

o1 C‘“



3. @icuio+e the hc{%h-l* of each +rianagle,
To +he nearest tenth of a centinvyeter

Detrermine The number of +\"a‘0n8\€:8
+hat are possible. Give your reasons.

a) In A RSTJJ <R=103° r=16acm,and S=9cm.
® TRis is a SSA situation. (Mﬂ_l_‘:h”‘%a Fair).

@ We can sKip @\Since <R is obtuse
+this step and r>S,one
Since <R 1s obtuse. obtuse +ﬁ'c:m8\e: 1S
possfb\e.



b) In A XYZ,<«X=580° x=58.2acm,and z=Tlcm.
® Thisisa SSA svtuation. (l\fga+ch;‘ng Paic).

@ hf bsin A S Since <X s acute

Ly = Z2sinX and x<h rl9+r1'an8|ﬁ
h=7-|\51'h50° a5 possfbfa. -
P‘Lf- 54 cm

) In AABC,<A=745 a=28.0cm,and b=289cm
® Tris is a SSA Siruation. (Hg—i-c:hfng Rair).
@ h=bsin A ® Since <A i's acute

R= 289 sin74° and h<a<b, +wo
h= 27.8cm Jrriong\es are possible.



4. Given each set+ of measurements
for A ABC,determine tThe number of
triangles +hat are possible. Drawa
dimer m To Support your answer.

a) <A=110% a= 4.7cm,and b=3&.1cm.

® Tha's s o SSA <Si+uo.+1'on-CMbo.+chm3 PQ'L\“),

@) \\jfe can SKip S Oince <A s obtruse
+hrs Step Since and a<b 5 NO ‘ﬁ‘r\'anglt
<A 's obtuse. 'S pPossible. |
. c

QL) {O.Src:x M o

N cm
b=5lcm\

\uo‘
A

B



b) 415\:50; Qa=6.3cm, and b=3.2cm.

® "This is a SSA situation. (Ma“rchfﬁg Fair)

@ \'t-= bsinA @61'nc:_¢ <A 1S ocute
‘rL= R.2. S B0° and a=h,one tight
Yt—- 6.3 cm Jrn'r:mg'\e T PGSSibEc.

C
;DI-QS ram e
o.=6.3¢cm




5. In AXYZ}AL X=G;"?°j x=3.2m, and tj:C').'-im

a) Determine ¢ possible measure Lor <’~YJ ‘o
+he nearest de:are,n?,-

Sin Y = Sin X
N x
'T'\\I’ — \i'l_‘-}_,;@ln
3. H 3.2,
32sinY =34 sSineT"
32 3.2

'KsinY=- O.97180
Y= <sin (0.9180)
Y= 18°



b) State another pPossible value for <Y. Give
one reason wWhy thisis a possible Value.

SinQ=s5n(1%30-Q)
stin Q@ = sin (U80°-"18°)
SinG = S'n 102°

'Since <X 1S CiC.u‘\-Ei} <Y Could also be obtuse.
Qoz)

C) Which of these possible values for <Y

Corresponds to A possible ﬁx'angle?
E}(p‘lafﬂ :

h= bsinA Since <X 1s acute

Lsh= usinX and h<x 4% , Two -‘rﬁ'onalfis
h= 34sin67° are possible.
h= 34(09205) Therefore both values
h=3.1m o <Y Corcespondto

possible +ria ngles .



Huk:r’IPLJ%, CHOTICE,

6. InAMNP, n=4.5cm and <M=35°7
What 13 "H’\ﬂf: henSth of +he *H“xoﬁgle. rom

base p ?

h=b sinA Op-!*l“or\ => C
sy h=nsin™

h=4.9sSin35°

h=45(0.5136)

h= 2.6 cm



. ITn APQR, < P=108°, q=4.9m, and p=4.5m.

Which statement is +rue for Hhi's Set of
Measurements ?

Since < Pis obtuse and P<q,, No Jrrior*.gjlc:
's po':'ssib\e.

Option=> § R " This s an SSA situation,
Mo friangle s possible.



R. Which set of measurements can pProduce
Two possible triangles 7

* We need +o check optron “A'and opTio n B
The sSolufion cannot- be option "C" Since
<A IS obtuse.

‘A Since <A /s acute
h=bsinA and a<h, nec -'rr-\‘on_ale
h=4.0sinG2° s possible.
h= 4.0(0.]8%29)
h=35m

o B“ Since < A TS acute
h=bsinA and h<a<b,two
h= 7.4s8in52° +rfan31.e:s are possible
h= T4 (0. 718%80) |
h=35.8m



9. In obtuse A ABC, <B=94° b= 18cm,
and a= 22 cm. Caleulate 4Re measure
of <A, t+o the nearest deqree. 15 there
more +han one possible answer ?
l{)J(pkcnﬁ how you Know.

SinA= sin® szﬁq&smc'lso“-—cgJ
Q b Sin30=sin (180=30")
SinA = Sin 24° Sin30°= &in 150°
2 Y
BesmnA= 22 Sin2y’ <A could be30%ar
2 18 150° since there
SInA = 0.4977| Qre 2, possible
A= sin~(0.4971) +non<3hes
A= 30O°
h=Dsin A

ls, h=0sinB
h=122 sina4°
h= 22 (040¢7T)
h= gqtc:m

(h<b< Q 5 2 possible 'h-lc:lr\g\ﬁs)



|0. T~ ADEF, <D= QA7 d=58.3cm,and e=4.8cm.
CQ‘.Qu ate J)rhe mm‘:‘:ure of -=’-E +o +he
nearest dearee . s there MQrf: +han one
possible answer ? Ié:p\om E"DW.Jou Know.

S_LQE Sin D Since < Di's obtuse,
S| and d>e, one
L_E Sing7° obtuse Trrangle
4.8 573 'S possible.”
55’5!.\’\11 48 sinQ°
53 53

SinkE = O.89%9
F = Sin~(0.S989)
E= GN°
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